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001. G NHISL AHA-L v S2dl ApAHil AR 4 € ?
(A) AR @ i~
(€) & (D) Ald

002. (1) Ul dlusefly Aglziil Yoo gunldeusrs aLu 9.
(2) HetEl, su, 5199 [guseudl o A€l 6.

(A) [ (1) W 24 (2) vl ©. (B) 6in [Qtu- viei 69,
(C©) [t (1) wig 249 (2) i . @i e i 9.
003.  SURAHL UL, 21014, ABY3 0612 ASIR gall sUL USIR-U FAAHT A 1A € ?
(A) Guas(2o{tly w8 Aol (B) aualldima sl2oidly Fadl
@ crasRoiflu arag) Faal (D) Guasl2oidly sizini ofaral
004.  GUElYR MUY UL 20d4 8 ?
(A) HSIRIN (B) A%
(C) Hauueal @iz

005. <013 ealda suwsA sl 249 vidler il ay wHifl gdlq, 200 A. 4 350 A A 230 AL
dl 70 A4 arue viggn A 9 ?

(A) 46 @
(C) sir (D) 451
006. (Al At Gewe Ml (uRd-l [Auul seail s1 e ?
@ (B) A
(C) winul (D) 921
007. -0 saidd USl MR NaH ¥ H3n 2B - AA 54 © ?
(A) Yeran (B) Haur-{l vudl
@R (D) -ieiedl
008.  GuRdai suL ad YL [A2a carwr Hlld 251 ouvn 2 082 sami 2nadl 8dl ?
(A) 1990 @ 1955
(C) 1986 (D) 1991
009.  uccllaund wuldgd uRal- suL ABUH] 2UAA O ?
(A) aParug (B) s2s
(C) AiauL 2 @::
010.  drRud-u -NaA-u Brecnil WA su [reami ay digsizi 2udar e ?
(A) 2434l (B) YR
@1uasia (D) M3
011. 58 yaarlu alor eManq [R-gein 28a [af@esHl e as ¢dl ?
@:\» (B) Al
(C) uidl (D) ugdl
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012.

013.

014.

015.

016.

017.

018.

019.

020.

021.

022.

AL Azt deA A3 RS RuAd S[Rezye sui 2uddl © ?

(A) 5422 (B) Hizell

(C) adle @)vicrae
uz(Axt Rasarl uduotd Adl A U4 suaou o ?

A) Bz [ RIS

(C) dluas (D) AU
A Y@l dadarz 02 WA sau A HetaHi 209 8 ?

A) Rulssn (B) B
@ (ux vioun 214 2R (D) HMBA
[Rugy-l 3sHuo Sudlan-ll 56 Al vior o M siasm e ?

(A) Bl (B) gl

() adll @)=
§Fcirll s s auefl Yrizsl acs SN2 A2 s Axaumi 2uda & ?
@< . 1983 (B) . 4. 1990
(C) §. A. 1991 (D) 8. A. 1992
ol “H8NYR" (A DA WA s seus2 € ?

(A) "ecid ol @-uo wda
(C) 2B A0 (D) M A anl

R Alasi wRRreui a4 2da iy ddl GuNLL AU, ERALADSAA A 2R WIS HINL
A 2 USIAL Srgell sUL ANHE RAYAL SAUHT 204 €9 ?

(A) 9. . 1990 (B) 9. A. 1995
@< . 199 (D) 5. 4. 2000
Yedl, YRAEL v {40 Aolld awell su QiR e ?

(A) el&a 3 (B) HE 9Lo3d
(C) BriR 9¥ud @

e dlan qe sun g Ja e ?

(A) HSIRN [ He)

(O) Buaausa (D) g1

24, 2. Al 1A salda el U4 suu e sasiz € ?
(A) asien (B) uRig

@ -vifen (D) tiud

QUL 2B Raa s duis sl ?

(A) u~uend U2 @-acua a2
(C) uaeus lass (D) S22 Uedls:
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023. (1) gHy-l HstRl [Bedlni 2udal .
(2) 20 1oL Rl gy el sHlel tad s .
@i e i 9. (B) tin [t vii2i 9.
(C) [t (1) g 24 (2) wilg ©. (D) [ (1) Wi 21 (2) 3y 6.
024. MLl g Sl Gueal suL 20 2ulA 8l ?
(A) gl (B) sll821L
@-v2ux (D) 2R
025.  [QerunoR azuoaHdl At 58 gl [Brurl u 2uda sdl ?
(A) 5134 [ ARICET]
(C) §™%u (D) BuR Q4 s w1l
026. AU sEAA U Qrid GuRAHT WS AU a5 sla s, ?
(A) diS AHAUS S B) ais R4
(C) &S [azn @< Sk
027.  AMAH (IRAML AUR HR2 2 salda [zl Su-dlai U 58 Sudl 2ud ¢dl ?
(A) 33 S22 S su-ll @20 S22 SR su-dl
(C) Hodla S22 S=3uL Su-l (D) 34 $22 Sl su-l
028.  dyuani usdl vidm wou .......... Hi £QUARJH MIAMISA §. . 183441 U3 s3] ¢dl.
(A) MHELUE (B) A3iel
@2 (D) A% SI2
029. ] AnisyaR N 52 a5 nAlAd ©Rd s AUl sdl ?
A) 9. A. 1876 (B) 9. A. 1875
(©) 5. u. 1877 @< . 1878
030.  cuani doufls 2elaus uin Aedal 2UIM a1 S sUL AR FRAN S10 WU O ?
@60 (B) sil3%
(C) ARl (D) 2Al5Ar3
031. il §. A, 187541 2L UM U1 20 245 ¢l ?
(A) a3t (B) Hiredl
@i~ (D) AHHAUR
032. -l otrldid S1a sHIgAR ClsdlA dlou [Aseu uie s3u.
(1) Rman ulne
(2) Yo Hi Aana sigla- nan 28dan Geruen
3) el (sl cud-l sl 08 scumi 2uda.
(4) MAM AL ARAAL ARAZ AL WZH
(A)1,3,2,4 B)3,1,2,4
(©01,2,3,4 @:.3.4.2
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033.

034.

03s.

036.

037.

038.

039.

040.

041.

042.

L -l ol €. A, 191540 “y SR BlAs s 0l a3 s2aed ?

(A) sasTll &

(©) Bl (D) Yo1s

[Bru ga i Al2AA WA siqu ausielli gan ?

(A) 245012 (B) M1y,

@2 (D) 220

“YarraR” Hraua A ealda Al Ul 56 e g1 usiRd sAH 2uad 8d ?
@11 aq aMla (B) 2AMra ¢uRd

(C) AN (D) S[3u- sinza Al
[Ricnzo- vrenail 18 YA 2 - H-ll-l s110l<) Acun-uR su1 uHdl 2ol s ?
(A) Wl (3 na) @R (i)

(C) erell2 (YHa) (D) Yr-udl (ulaa)

MURA [Qaul 241y Gewlg AL SeciHl uL U 8 ?

(A) tlloa (B) Al

(C)udal @

MURAHE U1l [ReH dal suatanzul $6 vidly wa au e ?

(A) s 2 @i

(C) dlvis (D) BuR Q4 a5 gL 1l

dl Aeils Al 19917 Hvu dau g ¢d ?

(A) Gerdls (B) vurolls

(C) A5 @Guz-u 20u

(1) HUHA HELIPUAMI AL GUAL AL 1Y 69,
(2) YRideuou vigrrudl uom w2 Mlaui sl ol usdl «dl.

@i e i 9. (B) tir [Qtu-l viiai 69,
(C) [tun (1) g 24 (2) vl ©. (D) [ (1) Wi 211 (2) 3y 6.
5 Algld v a1gl 0 Al dlou [Aseu uie sa.
5 “

(D) ueL $41l 2uas (1) ¥l 2uas

(1) [y dlsamidl adl 2uas 2) wdl v

(I11) $HALN2UAL YRUR GLetil WA (3) udydl »unas

AV) sl sauiqi vy (4) udydl Wy
(A) I-3, I1-2, I1I-1, IV-4 (B) I-1, I1-3, I11-2, IV-4
(C) I3, I1-1, I11-2, IV-4 @3, 11-1, 1114, 1V-2
de-Hgl-l quiRAsA ALY AULLHE Al AR 5 8131 sUL USR] oi1%UL] sSauu ¢ ?
(A) R4 61R19r2u3) (B) Wil siierousl
@A oo (D) W2 AR UL
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043.

044.

045.

046.

047.

048.

049.

050.

051.

052.

053.

Ui2 vildl gI2L SllH21R-1L €1 ALARML dRdl (Floating) Ulze HEu-l a32ud su1 avui s34 ¢dl ?

(A) M 2014 i @i 2011 i

(C) al 2015 Hi (D) @l 2010 Hi

ucid [Aeell yRisia-dlla-dl siuldl sid dluami 2uaa ¢ ?

(A) aurdly Ry 6i-5 (B) lu Haudy

(C) oy H-nau @000 AR 247 Wieus [Qeud (DIPP)
WY Hr3lud daqui-e oi-s 25 SRul ag Has sui uda d ?

(A) SeA0UE @16

(C) Yo (D) slastl

fl @18floL w3 w101, Jadui-2 siulRaq (AR (HUDCO) -l 2anu-it sau avui 4 ¢l ?
@< . 1970 B) 6. A. 1974

(©) 9. . 1976 (D) $. . 1975

sl uLs L Alor-umi wgdia ewonadl us |l ......... % Brllun-l y5aell sl siu e ?
(A) 1% (B) 1.5%

@ D) 2%

“au Beud MuRd Beu wlMart” )l ag2ud su1 adHi 2Aa S ?

(A) 9. A. 2015 (B) 9. A. 2017

(C)S. u. 2014 @< . 2016

QUR AL AlA8L 2uymHE A1 UL el A Al el ?

(A) s~y @+ 21 Gwaul wna

(C) 2ulls Ry (D) A8 =y

QURArL A[QHIAA MUAL-3- YN 851 Hedld 2042698 19(1) dl 31 suu vitnella Yl € saumi
A 89 ?

(A) ML (B) tlaicllami
@i (D) il
RURdrL At o0 AR SIA S2dl UsIRHL ANAUAL 85 WAL ?
[ B (B) A

(C) uin (D) 2

(1) AuRerll A2+l e HIRAAL AFAAAHIAL AHIH RpAAHE Yruasll-l 85 84,
(2) MuRer A2l R Arguld A58l 52 d o UL Hnal.

(A) [ (1) 3 21 (2) vl ©. (B) [t (1) vig 21 (2) Y 8.
@i e i 9. (D) bir [t wizi €.

el u-umi el a6 ?

(A) QALSAML

(B) ALSARL A AAAAML
(C) r2uld, Guarguld, ALSAML 2 AFAAML
@ 2ul, wurcu 2 disue
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054.

055.

056.

057.

058.

059.

060.

(1) AAE- ASIH YR 34 [A8us agular-ll 2uquld W2 cud- Alda-n 2094269¢ 1114 Adrus
Q501 HIsAUHI 2Ud €9,

) ezuld siSu [@Q8usA d-l a2 yrldueu w2 adin uieg Hisdl as ¢,

(A) [, (1) Wi 211 (2) 3y 6. @ ac (1) 0 211 2) g ©.
(C) bin [Qau-l wizi 69, (D) inl [Qannl i 6.

GAAH AUl € 5HA At ATl G Al Sem si-l €9 ?

(A) egula-l (B) At

(C) 32ulel 244 agms sia-) @-izue-l

AU 2nai04) aa-lon g-Ala-l udedl vies saR vold dl ?

(A) dL. 1-2-2015 @ 822015

(C) L. 1-3-2015 (D) dl. 1-4-2015

Al [Qaeust vaa [Qaq uRngawn sumi, AL [QanHsnn ik gsiz uar s2a [Adus
A% Wi AFHA W2 29 s 20d 2 A%AWAL il AU U 5 21 (A0 S1UEL oA dl G2
rnaadl dnl 2124 Yol adl o9l 5 d nmaad Al sual 4 eu- AL AL sial UL
AU MR AR s s 56 stdadl s s 6 ?

(A) [QAusA Aguld 20l 25 8.

(B) a2l uecsyu-t Al [Adus a8 /asiq ud Hisdl as €.
(C) [A8usA dxi-l wal 516 uw [Rela dla R av a3 8.
@)=z ula- (e w2 srund vl ad 8.

ol 5 ay AU -l g2 WE s dls Al 2uA1dL Avardl auegdl s30 1sd d 200l A calda 56
dlamlAs oS aloy €9 ?

(A) A2uld a2 g5 530 Ao 590 as 9.

(B) Aue 2udl Ad 2uq2dl stuel 530 as 9.

@ 3 ay 2ol WA e2s Aa-u [Qunssng s 3 ol osl gl @l €35 9 2L HAadotl 4 52 dl
AUAE AYSd dlsAal 2ualL Ha sragE Ao 3l us.

(D) (A) 21 (B) b dd oorcus as as 6.

QURdr (A Adus iddld “wHUM” Aed —

(A) WH R, YAad [ARARHI 28 dl lsaxiid g Hin

(B) AH R YAud [RaRH 28 dl Yo GHA culsaild vty Hin

(C) WM AAs U YAAd-L Y1daL AL, oig {3

@ 2, dnud [Qrrui aHul@e sunA qadl derRwelui Aladdl alxvidg Hsa

R ilAA Ssn el 2uaio, Huu el s viA ......... auidiavid 55 53 daau ollon G2l
sl vinel ?

(A) At @-v2uld

(C) yue (D) HIRA ARSI S1UEL UL
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061.

062.

063.

064.

065.

066.

067.

068.

A2 UrAHE ueAfRAnsHi 59 Al 2ud d-l [Qsey uRie s2.
1,5,9,225 37 49 65

(A) 11 (B) 15
@ (D) 18

51 Ais(As cummi ABILITY A 1341 1293927 vt di CONFIDENCE A $i34i 56 <ld dviy
(A)36569451435 B)3565945535

@:656945535 (D) Gu WA A5 vt 1l

5 a2l v Al HURLS WOUR 3 1 5 L RITRHL €9, tiriell HUlRs wouRH (U 20 Al ARl W €9 A4 YauR-L
JRITR 13 : 21 WA E, ell 5 -l YR 52al 83 ?

(A) 3R 220 @z 240
(C) 3l 210 (D) 30 400
3 ealdd vglani sean s ?

(A6 (B) 8

@ (D)9
25 514 16 HARAL UAlRA 7 saus s1m 5304 24 [Bauni yg 52 8. 20 % 514 8 Rl wldle 4 saus s
5304 sean [Bauniyd s as 9 ?

@54 o (B) 64 [Sax
(C) 56 [2ax (D) 60 [2a

25 g, uR AL [BHdd Ao 301 120 8 2 AWl 5421 6L doissIMl 5% AndR 2UU 8 dl d argrll
Qi [3Hd wAvR Seen 3 wn ?

(A) 3R 110 @z (2 108.30 U
(C) 3 108.70 V= (D) 300 108.00 Uz
A gaidar WA st esiandl-l 202 sul [@seu Alell Gan e ?

HA BHa 3[Rl 51 3(Hi

(1) 38 17

(2) 50 22

(3) 40 19

4) 60 24

A1 B)2

@: (D) 4

3[01 5000 - 6L ad W2 4% U €3 Asg[& Y 2 ALEL %L ASLAd el WY ?
(A) 32 3l (B) 16 3[R

(C) 90 3[R @s :f
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069.

070.

071.

072.

073.

074.

075.

076.

077.

078.

079.

25 ¢l vis seusHi well-u A nasui 40 (5.4, o © 21 ded o 2id well-i Gaar naisHi ol saus
w69 ol 8o etle-l wellmi ula sans/(5.4. s2dl xsu e ?

(A) 20 [3.3/5a18 B) 15 3.3l /scus
@30 B ses (D) 10 (3.4 /scus

20 [QenellAi-l 2322 GHR 14 A . 24 [Aendl2a WA 16 anl GHR vadl 215 [Qeudl u € 241 d-u
e 35 el [Qendl 2uadt il A2pA GHR 13.8 arl i 9. di A 2ua-iR [Qendl-l GHR sedl ¢l ?

@12 i (B) 11
(©) 14y (D) BuR Q4 a5 w1l
ol 518 AvALAL AR AW, d Aval-l 3/5 A 120 QIR S1d dl d AvaL 59 89 ?

(A) 90 (B) 70
(C) 180 @0

A X, Y U40% Sid, dl X S2d1250 Y 29 ?

(A) 125% (B) 62.5%
@:50% (D) 80%

5681 WIElA M oiiqami -l Guala a9 ?

(A) 5258 @ unm stz
(C) 3[@wn sietie (D) sailn

oA gRudl qwd u-u usidA wll weedl A asu d ?

(A) WS 51514 B) 2[&siu

(C) uuRRSIY @)iRsiu

B3R AU .. Bada 8.

(A) 2uB2y2 (B) S+1y2

@S- (D) A2

slveg2Hi Al ay AASAl5A vnaAd A4 .......... 8.

(A) DVD @:uo

O CD (D) Flash Drive

HTML %i24..........

(A) Hyper Text Memory Language (B) Hyper Text Mail Language
(C) Hyper Transfer Mark up Language .Hyper Text Markup Language
AlHA el A 5 B2l WS 2 Gelldufd ddls vuld-im 2 6. dil suL el Sl ?
(A) Bren (B) ol

@25 (D) W&-s

QLA 550U (RBC) UL oA 89 ?
(A) &EY (B) ud
(C) Ut HHidR3L @
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080.

081.

082.

083.

084.

08s.

086.

087.

088.

089.

090.

AARAGIA Ul A& A8 (TUCN) gL duiR sauHi 2uadl dia welHi a2y @al 14 ga sedl el
galacuui »ud ¢ ?

(A)uin (B) &

@ (D) £

(A2 valarw [Bax, 2017 o D4 (Theme) g 8d ?

(A) We are with nature .I am with nature
(O) I am with good environment (D) Gu A 245yl Al

(G well (2o (World Water Day) -1l U4l s [2ad uriaciul 2udd edi ?

(A) dl. 21-3-2018 (B) dl. 21-2-2018

(C) AL 26-3-2018 @ 2232018

Y23 AU SAUAH2 Arf SirgmA 2017 v UL $UL 20 A4 8, ?

(A) WRx @i

(C) d3n (D) 2il3ul

B2 (Gout) Hi 813517 ATUANHL s U1 A3 L Al Al0HL gronal HSYA AU €9 ?
[ EREPERIER B) w[ARs 2=

(C) 2UsA s 2R3 (D) Bu U4 215 v )

ad 20184 A Hellurt SR AlAD 4l WA 56 M-l UM ANAH Avid 2D Sl ?
(A) siolia (B) 3 x 3 turse vlid

(C) sy Brawda @Guz-u (B) 11 (C) viA-l

2018+ Gellunt ArAui 241 el oL dlul gl ?

(A) 50 (B) 52

@+ (D) 51

Bielluq S el 2ue YR A nle (urdul s2dl aud 284 6 ?

(A) A @

(C) A (D) AR

§420< 201841 UaHAL LS ADUY 2iu-iR sl SAHUH eI, s U UAHAL S ?

(A) ela 2ul3s (B) S=si-igllut

@SR (D) WS a3

2UYRHLA HIRd Al R522 ddl5 HIRd U512 A1 WA i)l [Rysdl 5269 ?
@< a2 (B) S+g ¢ueL

(©) . 2. o (D) BuR Q4 s uaL 1l
A (e ddls 90uL 2SR AAals AlA-umid) sid wAa e ?

(A) Hl $121R2s qun @D v s @ie:

(C) s1a L suy IR AH (D) 2u8 2i-ul
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091.

092.

093.

094.

095.

096.

097.

098.

099.

100.

MURArL NAH 18l s122 Wudl2 tira Ad DA UL siA a6 ?

(A) 2a-l A (B) YRl 21211

(C) ®uarll $i2 @)1 2qdel

aes SulAu Ruid, 20180 wElHi us Al $His U s 2l A AAA D ?
(A) <ud (B) 2US A3
@Ga- (D) 23

su1 22l A gIRA “A3RU” Yg AU AN 2018 Hi SUHI 1A Sl ?
(A) WlZclir 244 51 (B) A2 211 sin

(C) A2 244 A @ cq 21 s
MRl [Asuq siaad 1054 2f8daq su1 20 Hild ed, ?

@<+ (B) =y B

(C) sasTll (D) Yo

ogHAlrll ArAAR BB HFA au 201841 S2cul quid 2 AAAR ALlS Y21 ndd 81 ?
(A) tlle (B) Al

@-\0 (D) uinHl

“latna uRue” Al -1 sa1 W2 UL AU sAL WA 53469 ?

(A) ddau [ IS

(C) vdladre (D) 2L%21d

“UuUAAL UL Gl ALY SUL AU GIRL A3 SAHL 2UAA 6 ?

(A) Brruga (B) Heuaugal

@2 ELIEEE

DRI ECTE TR

(1) 5% AR 4121 AU ulan A=Al usiRgas adls sl (Al Al Rysdl sami 2uda 8.
(2) 2AARAEY AR Asoi8 QiR Anan W 201841 =y [2edl vid ulonda 8.

@i e i 9. (B) Qe (1) 0 214 (2) wig B.

(C) [tun (1) Wi 211 (2) iy ©9. (D) ti [ wizi 69,

RUR 2 5t a2 Wiellard s AR AL (MY C) -1l 484 512 iddld AL Attt 5181 Uet Adt A
Q18 -t w213l ALIAAL M2 WAA2 W% seHi MR- S2dl Al uigol ada ¢ ?

(A)uin (B) Ald
(©) ey @

(s Hsnay, yedl [suq (Earth Science) g121 SAAMI 531 2201 A5l Aol A2 i 154l
ScUHL 2dA 69 ?

(A) R (B) sz
@34 2-icay2m (D) 51l
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101. The transfer of Property” is defined under which section The Transfer of Property Act, 1882?
A3 (B) 4
@ (D) 2
102. What cannot be transferred under The Transfer of Property Act, 1882?
(1) An easement, apart from the dominant heritage;
(2) All interest in property restricted in its enjoyment to the owner personally;
(3) right to future maintenance, in whatsoever manner arising, secured or determined,

(4) a mere right to sue.

@:.2,3and4 (B) 1, 2 and 4
(O)1,3and 4 (D) 2,3 and 4
103. “Persons competent to transfer” is defined under which section The Transfer of Property
Act, 1882”
A)S B)o
@ (D) 8
104. “Sale” is a transfer of ownership in exchange for a price paid or promised or part paid and part

promised “this definition is given under which section of The Transfer of Property Act, 1882?
@:: (B) 52
©) 51 (D) 50.

10S. The seller is bound-

(a) to disclose to the buyer any material defect in the property and which the buyer could not
with ordinary care discover;

(b) to produce to the buyer on his request for examination all documents of title relating to the
property which are in the seller’s possession or power;

(c) to answer to the best of his information all relevant questions put to him by the buyer in
respect to the property or the title thereto;

(d) on payment or tender of the amount due in respect of the price, to execute a proper conveyance
of the property when the buyer tenders it to him for execution at a proper time and place;

Which statements are correct:

(A) b, ¢, and d all are correct (B) a, ¢, and d all are correct
(C) a, b, and d all are correct .a, b, ¢, and d all are correct.
106. Where the mortgagor binds himself to repay the mortgage-money on a certain date, and transfers

the mortgaged property absolutely to the mortgagee, but subject to a proviso that he will re
transfer it to the mortgagor upon payment of the mortgage-money as agree, the transaction is
called an English mortgage.

This definition is given under which section of The Transfer of Property Act, 1882?
(A) 55 (B) 56
(C) 57 @ss
107. The Transfer of Property, Act, 1882 was further amend in
(A) 2000 (B) 2001
@:002 (D) 2003
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108. The Transfer of Property, Act, 1882 come into force on the

(A) first day of march, 1882 (B) first day of June, 1882
.ﬁrst day of July, 1882 (D) first day of September 1882
109. Which are important characteristics of a tort from the following?

(1) A tort is a civil wrong unlike crime, breach of contract or breach of trust.

(2) Infringement of a right in rem. Tort is an infringement of right in rem and not right in
personam.

(3) Right fixed by law.

(4) The remedy available in tort should be a Common Law action. The Common Law action is
also actionable in India.

.1, 2, 3 and 4 all are important characteristics

(B) 1, 2 and 4 all are important characteristics

(O) 1, 3 and 4 all are important characteristics

(D) 2, 3 and 4 all are important characteristics
110. The commonly known and recognized defences to any tort are

(1) plaintiff is the wrongdoer

(2) Inevitable accident

(3) Act of God and Act in relation to Private Defence

(4) Consent and Act done in respect to statutory authority

(A) 1, 2 and 4 are important Defences (B) 1, 3 and 4 all are important Defences

(C) 2, 3 and 4 all are important Defences .1, 2, 3 and 4 all are important Defences
111. In case of determining Vicarious liability:

(1) A person will be held liable for an act done by someone else

(2) There should be certain kind of relationship among both the persons and the wrongful act.

(A) 1 statement is correct (B) 2 statement is correct
.both 1 and 2 statements are correct (D) Both 1 and 2 statements are not correct
112. (1) As per the Indian Contract Act, there is no special provision regarding the term ‘vicarious
liability’.

(2) The Act defines certain terms such as ‘principal’, ‘agent’ as well as various provisions relating
to the principal and agent as well as their duties and liabilities.

(3) Section 182 to 238 of The Indian Contract Act, 1872 states such provisions.

(4) The Act, under section 183, states that no person can be an agent unless he attains the age of
majority and has a sound mind.

Form the above which statements are correct?
(A) 2, 3, and 4 statements are correct. .1, 2, 3, and 4 statements are correct

(O) 1, 2, and 4 statements are not correct (D) 1, 3, and 4 statements are not correct
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113. Which are main types of damages:
I. General and special damages.
II. Nominal damages and Substantial damages.
III. Aggravated and exemplary damages.
IV. Liquidated and unliquidated damages.

A) LI, 111 (B) I, III and IV
(O IL I and 1V .I, IL, III and IV
114. THE INDUSTRIAL DISPUTES ACT 1947 come into force on?
@ irst day of April, 1947 (B) first day of May, 1947
(O) first day of June, 1947 D- -first day of July , 1947
115. As per THE INDUSTRIAL DISPUTES ACT 1947 “industry” is defined under which section?
A4 (B) 3

O1 @:
116. From the following statements, Under THE INDUSTRIAL DISPUTES ACT, 1947, “Industry”
includes:

(1) any systematic activity carried on by co-operation between an employer and his workmen

(2) for the production, supply or distribution of goods or services with a view to satisfy human
wants or wishes

(3) a whether or not any capital has been invested for the purpose of carrying on such activity; or
(4) such activity is carried on with a motive to make any gain or profit,
@:.2,3and4 (B) 1, 2 and 4
(O)1,3and 4 (D) 2,3 and 4
117. As per THE INDUSTRIAL DISPUTES ACT, 1947, Industry include —
(1) any agricultural operation with certain exception
(2) hospitals or dispensaries; or
(3) educational, scientific, research or training institutions;
(4) Any activity of the Dock Labour Board.
& B) 1
©3 (D) 2
118. With reference to “industrial dispute ACT, 1947 which statement/s is/are correct?

(1) any dispute or difference between employees and employers and dispute between employers
and workmen,

(2) between workmen and workmen, which is connected with the employment or non-
employment and the terms of employment or with the conditions of Labour,

(A) only No 1 (B) only No 2
(O) 1 and 2 both are not correct .1 and 2 both are correct

119. As per THE INDUSTRIAL DISPUTES ACT, 1947, Lay — off means: the failure, refusal or
inability of an employer on account of shortage of coal, power or raw materials or the
accumulation of stocks or the breakdown of machinery, to give employment to a workman
whose name is borne on the muster rolls of his industrial.

This is defined under which section of the act?

é@: (B) 4

(&N D) 8
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120. As per THE INDUSTRIAL DISPUTES ACT, 947,public utility service” includes —
(1) any railway service or any transport service for the carriage of passengers or goods by air
(2) any service in, or in connection with the working of, any major port or dock;
(3) any postal, telegraph or telephone service;
(4) any industry which supplies entertainment to the public;
(A)1,2,3 and 4 (B) 1,2 and 4
@:.2 2043 (D) 2,3 and 4
121. THE INDUSTRIAL DISPUTES ACT, 1947, “retrenchment includes
(1) the termination by the employer of the service of a workman for any reason
(2) voluntary retirement of the workman
(3) retirement of the workman on reaching the age of Superannuation.
(A) 1,2 and 3 (B) only 2
.only 1 (D) only 3
122. As per the INDUSTRIAL DISPUTES ACT, 1947, from the following “wages” includes:
(1) all remuneration capable of being expressed in terms of money,

(2) Such allowances (including dearness allowance) as the workman is for the time being
entitled to.

(3) the value of any house accommodation, or of supply of light, water, medical attendance or
other amenity or of any service or of any concessional supply of food-grains or other articles
or any travelling concession

(4) any bonus;
(A)ONLY 1,2,3,4 (B) ONLY 1 AND 2
(C) ONLY 1AND 3 @onLy 1, 2,3
123. As per THE INDUSTRIAL DISPUTES ACT, 1947, “workman” means

(A) Any person (including an apprentice) employed in any industry to do any manual, unskilled,
skilled, technical, operational, clerical or supervisory work.

(B) Any person (including an apprentice) work for hire reward, whether the terms of employment
be express or implied,

(C) Any such person who has been dismissed, discharged or retrenched.
.Any person employed mainly in a managerial or administrative capacity.
From the above, which is not correct statement.

124. As per THE INDUSTRIAL DISPUTES ACT, 1947 From the following , which is not

AUTHORITIES :
(A) Works Committee (B) Conciliation officers
(C) Boards of Conciliation .Civil Courts
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125.

126.

127.

128.

129.

130.

131.

As per THE INDUSTRIAL DISPUTES ACT, 1947 AUTHORITIES: National Tribunals has
following characteristics::

(A) The Central Government may, constitute one or more National Industrial Tribunals for the
adjudication of industrial disputes.

(B) A National Tribunal shall consist of one person only

(C) The Central Government may, appoint two persons as assessors to advise the National
Tribunal in the proceeding before it

.A person shall not be qualified for appointment as the Presiding officer of a National Tribunal
unless he is, or has been, a Judge of a Supreme Court.

From the above, which is not correct statement.

As per THE INDUSTRIAL DISPUTES ACT, 1947 strike” means

(1) a cessation of work by a body of persons employed in any industry

(2) acting in combination or a concerted refusal,

(3) a refusal under a common understanding, of any number of persons

(4) who are or have been so employed to continue to work or to accept employment;

From the above, which are correct statements.

@:.2,3and4 (B) 2, 3 and 4

(C)1,3 and 4 (D) 1,2 and 3

As per THE INDUSTRIAL DISPUTES ACT, 1947, “the provision for Prohibition of financial
aid to illegal strikes and lockouts.-the provision is made under which section?

(A) 22 (B) 23

@:s (D) 24

As per THE INDUSTRIAL DISPUTES ACT, 1947, the provision for Penalty for illegal strikes
and lock-outs, is made under which section?

(A) 25 @2

©) 27 (D) 28

As per THE INDUSTRIAL DISPUTES ACT, 1947, the provision for Penalty for closure without
notice, is made under which section?

(A) 28 (B) 29

@:o (D) 27

THE INDUSTRIAL DIPSUTES (AMENDMENT) ACT, 2010 came in to force on
.ISth Day of September, 2010. (B) 15th Day of August, 2010

(C) 15th Day of June, 2010 (D) 15th Day of April, 2010

The act the year which it came to force year of

(1) The Minimum Wages Act, : 1948

(2) The Payment of Wages Act, : 1936

(3) The Payment of Bonus Act, : 1956

(4) the Factories Act,: 1948

From the above pairs which pair is not correct?
A1 (B) 2

@: (D) 4
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132.

133.

134.

13S.

136.

137.

138.

139.

THE TRADE UNIONS ACT, 1926 came in to force on

.25th March 1926 (B) 25th April 1926
(C) 25th May 1926 (D) 25th June 1926
Under THE TRADE UNIONS ACT, 1926 “Trade Union” means
(1) any combination, whether temporary or permanent,

(2) formed primarily for the purpose of regulating the relations between workmen and employers
or between workmen and workmen, or between employers and employers,

(3) for imposing restrictive conditions on the conduct of any trade or business,
(4) includes any federation of two or more Trade unions

From the above, which are correct statements

(A)1,2and 3 (B)1,2 and 4

@:.2,3and4 (D) 2, 3, and 4

THE TRADE UNIONS ACT, 1926, “Application for registration” is made under which section
of the act?

(A) 6 [ E
© 4 D)3

As per THE TRADE UNIONS ACT, 1926 “Provisions to be contained in the rules of a Trade
Union.” are mentioned under which section of the act?

(A)3 (B) 4

©5 @s

“Registration of a trade union”, is made under which section of THE TRADE UNIONS ACT,
1926?

@ (B) 7
©e D)5

With reference to” registered Trade Unions,” from the following Acts (with amendments), which
act is applicable,

(A) The Societies Registration Act, 1860 (B) The Co-operative Societies Act, 1912
(C) The Companies Act, 1956 .none of above

“RIGHTS AND LIABILITIES OF REGISTERED TRADE UNIONS”, Under THE TRADE
UNIONS ACT, 1926 are mentioned under which chapter?

A1 (B) 2

@: (D) 4

As per THE TRADE UNIONS ACT, 1926 “The purpose for which general funds may be spent”,
is mentioned under which section?

(A) 12 @:s

© 14 D) 13
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140.

141.

142.

143.

144.

145.

14e.

For, which purposes mentioned below,” General funds” cannot be spent?
(A) the payment of expenses for the administration
(B) the payment of expenses for the prosecution or Defence of any legal action

(C) policies of assurance on the lives of members, or under policies insuring members against
sickness, accident or unemployment;

.providing financial assistance to political party.

“A registered Trade Union may constitute a separate fund, from contributions separately levied
for or made to that fund”.

with reference to above mentioned provision, study the following statements-

(1) the payment of any expenses incurred, either directly or indirectly, by a candidate or
prospective candidate for election as a member of any legislative body.

(2) No member shall be compelled to contribute to the fund constituted as above and a member
who does not contribute to the said fund shall not be excluded from any benefits of the
Trade Union,

(A) 15 statement is correct. (B) 2 statement is correct.
.1St and 2" statements are correct. (D) 1t and 2" statements are not correct

As per THE TRADE UNIONS ACT, 1926 the provision for immunity from civil suit in certain
cases is mentioned under which section?

@ (B) 17
©) 16 D) 15

What is the minimum Proportion of office-bearers to be connected with the industry, Under
THE TRADE UNIONS ACT, 1926?

(A) minimum 33% .minimum 50%
(C) minimum 67% (D) minimum 75%
As per THE TRADE UNIONS ACT, 1926?

Penalties and procedure are mentioned under which chapter?

(A) chapter iii (B) chapter iv

.chapter v (D) chapter vi

THE INDIAN CONTRACT ACT, 1872, come into force on

(A) The first day of January, 1872 (B) The first day of March , 1872
(C) The first day of June, 1872 .The first day of September, 1872

With reference to THE INDIAN CONTRACT ACT, 1872, from the following which statement
is not correct?

.It extends to the whole of India,

(B) Every promise and every set of promises, forming the consideration for each other, is an
agreement;

(C) An agreement not enforceable by law is said to be void;

(D) An agreement enforceable by law is a contract
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147. With reference to THE INDIAN CONTRACT ACT, 1872, study the following statements.

(1) The communication of proposals, the acceptance of proposals, and the revocation of proposals
are deemed to be made by any act or omission of the party, is legal.

(2) Every agreement by which any one is restrained from exercising a lawful profession, trade
or business of any kind, is to that extent void

(A) statement 1 is correct (B) statement 2 is correct

.statement land 2 are correct (D) statement 1 and 2 are not correct
148. A proposal is revoked —

(1) by the communication of notice of revocation

(2) by the lapse of the time prescribed in such proposal for its acceptance,

(3) by the failure of the acceptor to fulfil a condition, precedent to acceptance;

(4) By the death or insanity of the proposer,

From the following which statement are correct?

(A) 2, 3 and 4 are correct .1, 2, 3 and 4 are correct.
(O) 1, 3 and 4 are correct (D) 1, 2, and 3 are correct
149. All agreements are contracts if they are made:

(1) by the free consent of minor parties
(2) for a lawful consideration and with a lawful object, and are not expressly declared to be void.

Form the above statements, which statements is/are correct.

(A) statement 1 is correct. .statement 2 is correct
(C) statement 1 and 2 both are correct (D) Statement 1 and 2 both are not correct
150. Consent is said to be free when it is not caused by—

(1) coercion, or undue influence,

(2) fraud,

(3) misrepresentation,

(4) mistake,

Form the above statements, which statements is/are correct

.1, 2, 3 and 4 are correct (B) 2, 3 and 4 are correct

(O) 1, 3 and 4 are correct (D) 1, 2 and 4 are correct
151. As per THE INDIAN CONTRACT ACT, 1872,

Coercion” is defined under which section?

(A) 12 (B) 13
(C) 14 @5
152. From the following pairs showing section and the description, which pair is not correct?
(A) Section 11.==== Who are competent to contract
(B) Section 12. ==== What is a sound mind for the purposes of contracting
(C) Section 13.==== “Consent”
.Section 14 ==== “Undue influence”
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153. As per THE INDIAN CONTRACT ACT, 1872, from the following statements, which
statement/s have intention of “Fraud”.

(1) The active concealment of a fact by one having knowledge or belief of the fact.
(2) promise made without any intention of performing it;
(3) any other act fitted to deceive

(4) Mere silence as to facts, likely to affect the willingness of a person to enter into a contract.

(A)1,2,3and 4 (B) 2,3 and 4
(C)1,3 and 4 @:. 2 and3
154. As per THE INDIAN CONTRACT ACT, 1872 “Misrepresentation” is defined under which
section?
(A) 16 B) 17
@:s (D) 19
155. (1) Where, by the contract, a promisor is to perform his promise no time for performance is

specified, the engagement must be performed within a reasonable time.

(2) When a promise is to be performed on a certain day, promisee to perform at a proper place
and within the usual hours of business.

As per THE INDIAN CONTRACT ACT, 1872, from the above statements, which statement/s
is/are correct?

(A) 1** statement is correct. (B) 2 statement is correct.
.1St and 2" statements are correct (D) 1t and 2" statements are not correct
156. “Promisor not bound to perform, unless reciprocal promisee ready and willing to perform”.—

this provision is made under which section of THE INDIAN CONTRACT ACT, 1872.
@s: (B) 50

(C) 49 (D) 48
157. (1) An agreement to do an act impossible in itself is voidable.

(2) A contract to do an act which, after the contract is made, becomes impossible, or, by reason
of some event which the promisor could not prevent, unlawful, becomes voidable when the
act becomes impossible or unlawful

As per THE INDIAN CONTRACT ACT, 1872, from the above statements, which statement/s
is/are correct?

(A) 1** statement is correct. (B) 2 statement is correct.
(C) 1*t and 2" statements are correct .1St and 2" statements are not correct

158. Compensation for loss or damage caused by breach of contract”- this provision is made under
which section of THE INDIAN CONTRACT ACT, 1872?

(A) 70 @
©) 72 D) 71
159. Contract of indemnity” defined under which section of THE INDIAN CONTRACT ACT, 1872?
(A) 122 @ 2;
(C) 124 (D) 125
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160. “The term bailment” “bailor” and “bailee” are defined under which section of THE INDIAN
CONTRACT ACT, 1872?

(A) 146 (B) 147

@14 (D) 149

161. IN CONSTITUENT ASSEMBLY, the CONSTITUTION was adopted, enacted and given to
ourselves on

.26th Nov.,1949 (B) 26™ october, 1949
(C) 26™ September, 1949 (D) 26" july, 1949

162. From the following statements, which is the part of PREAMBLE of THE CONSTITUTION
OF INDIA?
(1) solemnly resolved to constitute India into a SOVEREIGN, SOCIALIST, SECULAR, and
REPUBLIC.
(2) JUSTICE, social, economic and political; LIBERTY of thought, expression, belief, faith and
worship;
(A) statement 1 (B) statement 2
.statement 1 and 2 (D) none of the above - statement 1 and 2

163. FUNDAMENTAL RIGHTS are mentioned in which part of THE CONSTITUTION OF INDIA?
@rarT 1 (B) part I
(C) Part 1 (D) Preamble of the Constitution of India

164. The definition of The State is mentioned under which Article of the constitution?
(A) 10 (B) 11

@2 (D) 13

165. With reference to THE CONSTITUTION OF INDIA, from the following statements, which
statement/s is/are correct?

(1) law” includes any Ordinance, order, bye-law, rule, regulation, notification, custom or usage
having in the territory of India the force of law;

(2) The State shall not make any law which takes away or abridges the rights conferred by THE
CONSTITUTION

(A) 1° statement is correct

(B) 2 statement is correct

(C) 1°t and 2™ statements both are not correct
.1St and 2" statements both are correct

166. “The State shall not deny to any person equality before the law or the equal protection of the
laws within the territory of India” —this is mentioned under which article of THE
CONSTITUTION OF INDIA

(A) 6 (B) 8

(©) 12 @4
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167.

168.

169.

170.

171.

Prohibition of discrimination on grounds of religion, race, caste, sex or place of birth, is
applicable at:—

(1) access to shops, public restaurants, hotels and places of public entertainment;

(2) the use of wells, tanks, bathing Ghats, roads, and places of public resort maintained wholly
or partly out of State funds or dedicated to the use of the general public.

(A) only at the places mentioned in statement 1

(B) Only at the places mentioned in statement 2

.Al] the places mentioned in statement 1 and 2

(D) This is not applicable, at the places mentioned in these statements,

(1) No citizen shall, on grounds only of religion, race, caste, sex, descent, place of birth, residence
or any of them, be ineligible for, or discriminated against in respect of, any employment or
office under the State.

(2) Nothing shall prevent the State from Making any provision for the reservation of appointments
or posts in favour of any backward class of citizens which, in the opinion of the State, is not
adequately represented in the services under the State.

With reference to THE CONSTITUTION OF INDIA, from the above statements, which
statement/s is/are correct?

(A) 1¢ statement is correct

(B) 2 statement is correct

(C) 1°t and 2™ statements both are not correct
.1St and 2" statements both are correct.

All citizens shall have the right—

(1) to freedom of speech and expression;

(2) to assemble with arms;

(3) to form associations or unions;

(4) to move freely throughout the territory of India;
From the above statements ,which statement is not correct
(A) 4 B)3

@: D) 1

With reference to “Protection in respect of conviction for offences “study the below mentioned
statements.

(1) No person shall be prosecuted and punished for the same offence more than once.
(2) Person accused of any offence can be compelled to be a witness against himself.
.statement 1 is correct (B) Statement 2 is correct

(C) statement 1 and 2 both are correct (D) Statement 1 and 2 both are not correct

“The State shall provide free and compulsory education to all children of the age of six to
fourteen years in such manner as the State may, by law, determine “This is mentioned under
which article of THE CONSTITUTION OF INDIA

(A)21 @214
©20 D) 19
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172.

173.

174.

175.

176.

177.

(1) Traffic in human beings and beggar and other similar forms of forced Labour are prohibited.

(2) No child below the age of sixteen years shall be employed to work in any factory or mine or
engaged in hazardous employment.

With reference to THE CONSTITUTION OF INDIA, from the above statements, which
statement/s is/are correct?

.statement 1 is correct (B) Statement 2 is correct
(C) statement 1 and 2 both are correct (D) Statement 1 and 2 both are not correct

(1) No person shall be compelled to pay any taxes, the proceeds of which are specifically
appropriated in payment of expenses for the promotion or maintenance of any particular
religion or religious denomination.

(2) No religious instruction shall be provided in any educational institution wholly maintained
out of Stat funds.

With reference to THE CONSTITUTION OF INDIA, from the above statements, which
statement/s is/are correct

(A) statement 2 is correct (B) Statement 1 is correct
(C) statement 1 and 2 both are not correct .Statement 1 and 2 both are correct

Protection of interests of Minorities, is protected under which article of the CONSTITUTION
OF INDIA

.article 29 (B) article 25
(C) article 24 (D) article 23

“Power of Parliament to modify the fundamental rights conferred by CONSTITUTION OF
INDIA to forces”- this is mentioned under which article of THE CONSTITUTION OF INDIA?

@:: (B) 32

©) 31 (D) 30

FUNDAMENTAL DUTIES are mentioned in which part THE CONSTITUTION OF INDIA?
(A) PART I A (B) PART IT A

(C) PART IIT1 A .PART IVA

(1) To cherish and follow the noble ideals which Inspired our national struggle for freedom.
(2) To uphold and protect the sovereignty, unity and integrity of India.

(3) To defend the country and render national service when called upon to do so.

(4) To value and preserve the rich heritage of our Composite culture.

Above mentioned duties are mentioned under which article of THE CONSTITUTION OF

INDIA?
(A) 50 A @:-1 4
() 52A (D) 53A
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178.

179.

180.

181.

182.

183.

(1) DIRECTIVE PRINCIPLES OF STATE POLICY shall not be enforceable by any court,
(2) The principles laid down are fundamental in the governance of the country

(3) It shall be the duty of the State to apply these principles in making laws.

(4) State to secure a social order for the promotion of welfare of the people

From above statements, which statements are correct?

.only 1, 2, 3 and 4, statements are correct

(B) Only 1, 3 and 4, statements are correct

(C) Only 1, 2 and 4, statements are correct

(D) Only 2, 3 and 4, statements are correct

The State shall take steps to separate the judiciary from the executive in the public services of
the State- this is mentioned under which article of THE CONSTITUTION OF INDIA?

(A) 48 (B) 49

@so (D) 47

(1) The Supreme Court may from time to time, with the approval of the President, make rules
for regulating the practice and procedure of the Court.

(2) rules as to the persons practicing before the Court;

(3) rules as to the proceedings in the Court for the enforcement of any of the rights;

(4) Rules as to the proceedings in the Court.

Above mentioned rules are mentioned under which article of THE CONSTITUTION OF INDIA?
@45 (B) 144

(C) 143 (D) 142

(1) There shall be a Supreme Court of India consisting of a Chief Justice of India and, Every
Judge of the Supreme Court shall be appointed by the President by warrant under his hand
and seal.

This is mentioned under which article of THE CONSTITUTION OF INDIA?
@24 (B) 123
©) 122 (D) 121

Subject to the provisions of this Constitution, the Original jurisdiction of the Supreme Court, is
mentioned under which article of THE CONSTITUTION OF INDIA?

@31 (B) 130
(C) 129 (D) 128

(1) Appellate jurisdiction of Supreme Court in appeals from High Courts in regard to civil
matters.

(2) Appellate jurisdiction of Supreme Court in regard to criminal matters.
These are mentioned under which article of THE CONSTITUTION OF INDIA?
(A) 130, 131 (B) 131, 132

.133, 134 (D) 134,135
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184.

18S.

186.

187.

188.

189.

190.

191.

“If at any time it appears to the President that a question of law or fact has arisen, which is of
such a nature and of such public importance, He may refer the question to the Supreme Court
for consideration, and the Court may, after such hearing as it thinks fit, report to the President
its opinion”.

This is mentioned under which article of THE CONSTITUTION OF INDIA

@43 (B) 142

(C) 141 (D) 140

There shall be a Parliament for the Union which shall consist of

(A) the President (B) the Council of States
(C) the House of the People .A, b, and C all.

In the Council of States, how many members to can be nominated by the President, having
special knowledge or practical experience, in respect Literature, science, art and social service?

(A) 10 members (B) 11 members
.12 members (D) 13 members
The maximum strength of the House of the People, allotted by the Constitution of India is

(1) not more than five hundred and thirty members chosen by direct election from territorial
constituencies in the States,

(2) Not more than twenty members to represent the Union territories,

(3) maximum, 10 nominated members of the Anglo-Indian Community by the President of India.
(A) only, statement 1is correct (B) only, statement 2 is correct

(C) only, statement 3 is correct .statementl, 2 are correct

(1) The Council of States shall not be subject to dissolution, but as nearly as possible one-third
of the members thereof shall retire as soon as may be on the expiration of every second year.

(2) The House of the People, unless sooner dissolved, shall continue for six years from the date
appointed for its first meeting.

From the, above mentioned statements, which statement/s is/are correct.

.statement 1 is correct (B) statement 2 is correct

(C) statement 1 and 2 both are correct (D) statement 1 and 2 both are not correct
“Qualification for membership of Parliament”

This is mentioned under which article of THE CONSTITUTION OF INDIA?

(A) 81 .84

(C) 83 (D) 82

(1) The President of India shall be, ex officio Chairman of the Council of States.

(2) A member holding office as Speaker or Deputy Speaker of the House of the People, may at
any time, by writing under his hand addressed, if such member is the Speaker, to the Deputy
Speaker, and if such member is the Deputy Speaker, to the Speaker, resign his office;

(A) statement 1 is correct .Statement 2 is correct
(C) Statement 1 and 2 both are not correct (D) Statement 1 and 2 both are correct

A person shall be disqualified for being chosen as, and for being, a member of either House of
Parliament —

This provision is mentioned under which article of THE CONSTITUTION OF INDIA?
@02 (B) 101
(©) 100 D) 99
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192.

193.

194.

195.

196.

197.

In SEVENTH SCHEDULE of THE CONSTITUTION OF INDIA, which items are included:
(A) List I — Union List

(B) List II — State List

(C) List III — Concurrent List

.list I, list II and list III as mentioned in A, B, and C

Generally, an amendment of this Constitution may be initiated only by:

(1) the introduction of a Bill for the purpose, in either House of Parliament,

(2) the Bill is passed in each House.

(3) the Bill shall be presented to the President who shall give his assent to the Bill

(4) thereupon the Constitution shall stand amended in accordance with the terms of the Bill:
From the, above mentioned statements, which statements are correct?

.statement 1, 2 3and 4 are correct (B) statement 1, 3and 4 are correct

(C) statement 1, 2 and 4 are correct (D) statement 2, 3and 4 are correct

(1) Parliament may by law confer on the Supreme Court power to issue directions, orders or
writs, including writs in the nature of habeas corpus, mandamus, prohibition, quo warranto
and certiorari, or any of them

(2) Every High Court shall have power, throughout the territories in relation to which it exercises
jurisdiction, to issue orders or writs.

(A) statement 1 is correct (B) Statement 2 is correct
.Statement 1 and 2 both are correct (D) Statement 1 and 2 both are not correct

(1) Habeas Corpus: the writ enables immediate determination of the right of a person as to his
freedom.

(2) Quo Warranto: These writ are issued to prevent the excess of power by public authorities

(3) Mandamus is a command issued by a court to an authority directing it to perform a public
duty imposed upon it by law.

From the, above mentioned statements, which statement is not correct?

(A) statement 1 .statement 2

(C) statement 3 (D) all statements are correct
Superintendence, direction and control of elections to be vested in an Election Commission.
This provision is mentioned under which article of THE CONSTITUTION OF INDIA?

(A) 323 @24

(©) 322 (D) 321

(1) All elections to Parliament and to the Legislature of every State and of elections to the offices
of President and Vice-President, held under the Constitution, shall be vested in an Election
Commission.

(2) The superintendence, direction and control of the preparation of electoral rolls for, and the
conduct of, all elections to the Panchayats shall be vested in an Election Commission.

From the, above mentioned statements, which statement is correct?
(A) Statement 1 and 2 both are correct (B) Statement 2 is correct

.Statement 1 is correct (D) Statement 1 and 2 both are not correct
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198.

199.

200.

201.

202.

203.

Generally, crimes can be divided into how many major categories?
(A)2 (B) 3

@ D)5

(1) “Offenses against the Person”: These are crimes that result in physical or mental harm to
another person. Personal crimes like Assault, Battery/hurt, and Kidnapping etc.

(2) “Offenses against Property”: These are crimes that do not necessarily involve harm to another
person. Instead, they involve an interference with another person’s right to use or enjoy
their property, And include Larceny, theft, Robbery, Burglary, Arson, Embezzlement,
Forgery

From the, above mentioned statements, which statement/s is /are correct?
(A) Statement 1 and 2 both are not correct (B) Statement 2 is correct
(C) Statement 1 is correct. .Statement 1 and 2 both are correct
How many important branches of Criminal Science are there?

(A)2 ®:;

O 4 D)5

What are important component of “Common Intention”

(1) Some Criminal Act

(2) Done By Several Persons:

(3) Common Intention and Participation In The Criminal Act:-

(A) only 1st (B) only 2nd

(C) only 3rd .1, 2 and 3 all.

“If an offence is committed by any member of an unlawful assembly in prosecution of the
common object of that assembly, every person who, at the time of the committing of that offence,
is a member of the same assembly, is guilty of that offence”

This provision is mentioned under which section of THE INDIAN PENAL CODE, 1860.
(A) 148 @149

(©) 150 (D) 151
What are the essential ingredients of Common Object?

(1) There must be an unlawful assembly, Criminal act must be done by any member of such
assembly

(2) Act done is for the common object of the assembly.
(3) Members have voluntarily joined the unlawful assembly.

(4) Mere presence and sharing of common object of the assembly makes a person liable for the
offence committed even if he had no intention to commit that offence.

@:.2,32nd4-an (B) only 2, 3 and 4
(C)only 1, 3 and 4 (D) only 1, 2 and 4
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204.

205.

206.

207.

208.

(1) Common intention requires prior meeting of minds or pre-arranged plan, Under Common
Object prior meeting of minds is not necessary. Mere membership of an unlawful assembly
at the time of commission of the offence is sufficient.

(2) Common intention some active participation is necessary,. Common Object does not require
active participation and the liability arises by reason of mere membership of the unlawful
assembly with a common object.

(3) Under Common intention number of persons must be more than one. Under Common Object
number of persons must be five or more.

(4) Common intention does not create any specific offence but only states a rule of evidence.
Common Object creates a specific offence.

From the, above mentioned statements, which statements are correct?
(A)2,3,and 4 (B)1,3 and 4
(O)1,2and 4 .1, 2, 3, and 4 all are correct

(1) Conspiracy: a criminal conspiracy exists when two or more people agree to commit almost
any unlawful act, then take some action toward its completion.

(2) The “Agreement” Requirement: the agreement need to be expressly conveyed.

(3) The Element of “Intent *“, means everything. Not only all individual in the conspiracy need
to intend to agree, all parties must intend to achieve the outcome.

From the, above mentioned statements, which statements are correct?

(A) 1 statement is correct (B) 2 statement is correct

(O) 1 and 2 statements are correct .1, and 3 statements are correct

(1) “Woman” denotes a female human being of any age

(2) Gender - he pronoun “he” and its derivatives are used of any person, whether male or female.

(3) “Reason to believe” —A person is said to have “reason to believe” a thing, if he has sufficient
cause to believe that thing but, not otherwise

From the, above mentioned statements, which statements are correct?

(A) 1 and 2 statement are correct. .1,2 and 3 all statement are correct
(O) 1 and 3 statements are correct (D) 2 and 3, statements are correct
The Crimes against woman under the Indian Penal Code (IPC)

Crime against woman section of IPC

(I) Rape (Sec. 376 IPC)

(II) Kidnapping & Abduction for different purposes — (Sec. 363 - 373 IPC)

(IIT) Enticing or taking away or detaining with criminal intent a married
woman (Sec. 498 IPC)

(IV) Word, gesture or act intended to insult the modesty of a woman (Sec. 590 IPC)
From the above pairs, which pair of crime and section is not correct?

@ (B) I

onu DI

THE SEXUAL HARASSMENT OF WOMEN AT WORKPLACE-Prevention PROHOBITION
AND REDRESSAL, ACT, 2013, shall come into force on-

(A) 9th day of May, 2013 (B) 9th day of June, 2013
(C) 9th day of November, 2013 .9th day of December, 2013
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209.

210.

211.

212.

213.

(1) Criminology: deals with the causes of Crime — both Biological and Social while Criminal
law: explain the conduct considered as tort and what is Crime, Prescribes the punishment.

(2) Criminal Policy: Studies the measures to limit the harmful conduct, takes measures by setting
up social organizations to prevent harmful activities and lays down the principles by which
harms are classed as crimes and how criminals are to be treated.

From the, above mentioned statements, which statement/s is /are correct?
.Statement 1 and 2 both are correct (B) Statement 2 is correct
(C) Statement 1 and 2 both are not correct (D) Statement 1 is correct

“When a criminal act is done by several persons in furtherance of the common intention of all,
each of such persons is liable for that act in the same manner as if it were done by him alone.”

This provision is mentioned under which section of THE INDIAN PENAL CODE, 1860.
(A) 32 B) 33

@:+ (D) 35

The principle of gender equality is enshrined in the Constitution, in

(1) its Preamble,

(2) fundamental rights,

(3) fundamental duties

(4) Directive Principles

(A) statement 1, 2 and 4 (B) statement 1, 3 and 4
(C) statement 2, 3 and 4 .statement 1,2,3 and 4

With reference to “Vishaka V. State of Rajasthan 2 (“Vishaka Judgment”) which is not correct
statement?

(A) Workplace sexual harassment in India, was for the very first time recognized by Hon.
Supreme Court of India

(B) The POSH Act and the POSH Rules was enacted after the Vishaka Judgment.

(C) Convention on Elimination of All Forms of Discrimination against Women, adopted by the
General Assembly of the United Nations, in 1979, which India has both signed and ratified.

.Ministry of Social Justice and Empowerment is taking care of this Act.

Sexual Harassment is any unwelcome act or behavior whether express or implied, such as:-
(1) Physical contact.

(2) A demand or request for sexual favors’

(3) Making sexually coloured remarks, Showing pornography

(4) Any other physical, verbal or non-verbal conduct of a sexual nature

Which are correct statements?

(A) only 2, 3 and 4 .only 1,2,3 and 4

(C)only 1, 3 and 4 (D) only 1,2 and 4
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214.

215.

216.

217.

218.

219.

Under Sexual Harassment of Women At Workplace (Prevention, Prohibition and Redressal)
Act 2013, Every organization has to constitute an Internal Complaints Committee (ICC) having
following members

(1) Chairperson — Women working at senior level in the organisation

(2) Members (at least) — Amongst employees committed to women issues, have legal knowledge
or experience in social work

(3) 1 Member — from NGO

(4) One member from Government.

From the above statements which are correct statements?

(A) 2,3 and 4 (B)1,2 and 4

@:.:2: (D) 1, and 2

With reference e to THE CODE OF CRIMINAL PROCEDURE, 1973, From the following
Which statements are correct?

(1) It shall come into force on the 1st day of April, 1974.
(2) It extends to the whole of India except the State of Jammu and Kashmir

(3) investigation includes all the proceedings under this Code, for the collection of evidence
conducted by a police officer or by any person (other than a Magistrate)

A) only 1 (B) only 2
y y
(C) only 3 .1, 2 and 3 all are correct

Classes of Criminal Courts. — Besides Hon. High court, how many types of Criminal Courts are
established, in every State?

& (B)3

©)2 D)1

Procedure of arrest and duties of officer making arrest. — Every police officer while making an

arrest shall —

(1) bear an accurate, visible and clear identification of his name which will facilitate easy
identification;

(2) prepare a memorandum of arrest, attested by at least one witness, who is a member of the
family of the person arrested and countersigned by the person arrested;

(3) Inform the person arrested, that he has a right to have a relative or a friend named by him
to be informed of his arrest.

(A) Statement 1 and 2 are correct (B) Statement 3 and 2 are correct
(C) Statement 1 and 3 are correct .Statement 1, 2 and 3 are correct
“Examination of arrested person by medical officer”

With reference to THE CODE OF CRIMINAL PROCEDURE, 1973, this provision is made
under which section?

@ (B) 52
(O) 51 D) 50
(1) A police officer making an arrest without warrant shall, without unnecessary delay and

subject to the provisions herein contained as to bail, take or send the person arrested before
a Magistrate having jurisdiction in the case.

(2) No police officer shall detain in custody a person arrested without warrant for a longer
period exceeding forty eight hours

From the above mentioned statements, which statement is not correct?

(A) 1 statement is not correct .2 statement is not correct

(O) 1 and 2 statements are not correct (D) 1 and 2 statements are correct
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220.

221.

222.

223.

224.

225.

226.

“PROCESSES TO serve Summons” is Mentioned under which CHAPTER?
(A) CHAPTER II1 (B) CHAPTER IV

(C) CHAPTER V .CHAPTER VI

(1) Proclamation for person absconding

(2) Attachment of property of person absconding

With reference to THE CODE OF CRIMINAL PROCEDURE, 1973, these provisions are made
under which section?

@s2 ana 83 (B) 81 and 82
(C) 80 and 81 (D) 79 and 80

“Magistrate may, require from habitual offenders to show-cause why he should not be ordered
to execute a bond, with sureties, for his good behavior for such period, not exceeding three
years, as the Magistrate thinks fit.”

With reference to THE CODE OF CRIMINAL PROCEDURE, 1973, this provision is made
under which section?

(A) 108 (B) 109
@110 (D) 111
ORDER FOR MAINTENANCE OF WIVES, CHILDREN AND PARENTS”

With reference to THE CODE OF CRIMINAL PROCEDURE, 1973, this provision is made
under which chapter:

.CHAPTER IX (B) CHAPTER VIII

(C) CHAPTER VII (D) CHAPTER VI

CHAPTER XI of THE CODE OF CRIMINAL PROCEDURE, 1973,explains the concept of :
(A) Power of Courts

.Preventive Action of the Police

(C) Order for maintenance of wives, Children and Parents

(D) Arrest of persons

Under section 164 of THE CODE OF CRIMINAL PROCEDURE, 1973. Recording of confessions
and statements, from the following, which is/are correct statement?

(1) Any Metropolitan Magistrate or Judicial Magistrate, may, record any confession or statement
made, in the course of an investigation.

(2) The Magistrate shall, before recording any such confession, explain to the person making it
that he is not bound to make a confession and that, if he does so, it may be used as evidence
against him.

(A) statement 1 is not correct (B) statement 2 is not correct
.statement 1 and 2 both are correct (D) statement 1 and 2 both are not correct

(1) The Indian Penal Code was drafted by the first Indian Law Commission under the
presidentship of Macaulay.

(2) The Indian Penal Code Bill was passed by the Legislative Council and received the assent of
the Governor-General on 6th October, 1860.

From the following, which is/are correct statement?
(A) statement 1 is correct (B) statement 2 is correct
.statement 1 and 2 both are correct. (D) statement 1 and 2 both are not correct
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227.

228.

229.

230.

231.

232.

233.

234.

“Public Servant” is explained under which section of THE CODE OF CRIMINAL
PROCEDURE, 1973?

(A) 19 (B) 20

@:1 (D) 22

The punishments to which offenders are liable under the provisions of The Indian Penal Code
(45 of 1860) are —

(1) Death;

(2) Imprisonment for life; Imprisonment, which is of two descriptions, namely:— (1) Rigorous,
Simple;

(3) Forfeiture of property and fine

(4) Written warning.

(A)1,2,3 and 4 @:.220a3

(C)1,3 and 4 (D) 2,3 and 4

With reference to, Nothing is an offence, under The Indian Penal Code (45 of 1860), Which are

correct statements,

(1) Act of Judge when acting judicially

(2) Act of a child under seven years of age

(3) Act of a person of unsound mind.

(4) Act not intended to cause death, done by consent in good faith for person’s benefit.

@:.2,3and4 (B) 2, 3 and 4

(C)1,3 and 4 (D) 1,2 and 4

Definition of “criminal conspiracy” is mentioned under which section of The Indian Penal Code

(45 of 1860)

(A) 120 @120

(C)120B D)120C

Under which chapter of The Indian Penal Code (45 of 1860 “OFFENCES AGAINST THE
STATE” are mentioned?

(A) CHAPTER III (B) CHAPTER 1V

(C) CHAPTER V .CHAPTER VI

“OFFENCES BY OR RELATING TO PUBLIC SERVANTS” are mentioned under which
chapter of The Indian Penal Code (45 of 1860)

(A) CHAPTER VII (B) CHAPTER VIII

.CHAPTER IX (D) CHAPTER X

THE INDIAN EVIDENCE ACT, come into force

.on the first day of September, 1872 (B) on the first day of January, 1872
(C) on the first day of May, 1872 (D) on the first day of July, 1872

1-Evidence. Evidence means and includes —

(1) all oral evidence, statements which the Court permits or requires to be made before it, by
witnesses,;

(2) all documents including electronic records produced for the inspection of the Court; such
documents are called documentary evidence.

From the above mentioned statements, which statement is/are correct?
(A) statement 1 is correct. (B) statement 2 is correct
.statement land 2 both are correct (D) statement 1and 2 both are not correct
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235.

236.

237.

238.

239.

240.

With reference to “Admission” which are correct statements?
(1) An admission is a statement
(2) it may be oral or documentary or contained in electronic form,

(3) It suggests any inference as to any fact in issue or relevant fact, and which is made by any of
the persons.

(A) 1 and 3 statements are correct (B) 2, and 3 statements are correct

.1 2, and 3 statements are correct (D) 1 and 2 statements are correct

(1) Confession caused by inducement, threat or promise, irrelevant in criminal proceeding.
(2) Confession to police-officer, not to be proved.

(3) Confession by accused while in custody of police,

With reference to “Confession” which are correct statements?

(A) 1 and 2 statements. (B) 1, and 3 statements

(C) 2, and 3 statements. .1, 2, and 3 statements.

(1) When the Court has to form an opinion upon a point of foreign law or of science, or art, or
as to identity of handwriting, or finger impressions, the opinions upon that point of persons
especially skilled are relevant facts.

(2) When in a proceeding, the court has to form an opinion on any matter relating to any
information transmitted or stored in any computer resource or any other electronic or digital
form, the opinion of the Examiner of Electronic Evidence referred to in section 79A of the
Information Technology Act, 2000, is a relevant fact.

With reference to “THE INDIAN EVIDENCE ACT, 1872 which is/are correct statement/s?
(A) statement 1 and 2 are not correct. .Statement 1 and 2 are correct.

(C) Statement 1 is correct. (D) Statement 2 is correct.

Secondary evidence means and includes —

(1) certified copies given made from the original by mechanical processes which in themselves
insure the accuracy of the copy, and copies compared with such copies;

(2) copies made from or compared with the original;
(3) counterparts of documents as against the parties who did not execute them;
(4) Oral accounts of the contents of a document given by some person who has himself seen it.

From above mentioned statements, which are included in Secondary Evidence?

@:.2,3and4 (B) 2, 3 and 4

(O)1,3and 4 (D) 1, 2 and 4.

The Code of Civil Procedure, 1908 came into force on

(A) The first day of May, 1909. (B) The first day of August, 1909.

(C) The first day of September, 1909. .The first day of January, 1909.
Under which section of the Code of Civil Procedure, 1908 “Res judicata” is explained?
.section 11. (B) section 10.

(C) section 9. (D) section 8.
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241.

242.

243.

244.

245.

246.

With reference to “Place of suing” Code of Civil Procedure, 1908, which statement/ is/are correct?
(1) Every suit shall be instituted in the Court of the lowest grade, competent to try it.

(2) Suits to be instituted where subject-matter is situated Subject to the pecuniary or other
limitations prescribed by any, law, suits-

(3) Other suits to be instituted where plaintiff resides.
(A) 2, and 3 are correct (B) 1 and 3 are correct
(O) 1, 2, and 3 are correct .1 and 2 are correct

The Court may compel the attendance of any person to whom a summons has been issued
under section 30 and for that purpose may take following steps:

(1) issue a warrant for his arrest;

(2) attach and sell his property;

(3) impose a fine upon him not exceeding five thousand rupees;

(4) Order him to furnish security for his appearance and in default commit him to the civil prison.
(A)1,2,3 and 4 (B) 2,3 and 4

@:.22na4 (D) 1,3 and 4

“The Court, after the case has been heard, shall pronounce judgment, and on such judgment a
decree shall follow.”

Under which section of the Code of Civil Procedure, 1908, above mentioned situation, is
explained?

(A) 34 @s:

(©) 32 (D) 31

Property not liable to be attachment and sale in execution of decree, Under the Code of Civil
Procedure, 1908,

(1) The necessary wearing apparel, cooking vessels, beds and bedding of the judgment debtor,
his wife and children, and such personal ornaments.

(2) Tools of artisans, and, where the judgment debtor is an agriculturist, his implements of
husbandry and such cattle and seed grain.

(3) The wages of labourers and domestic servants, whether payable in money or in kind

(4) Government securities belonging to the judgment debtor ;

(A) as per statement no 1, 3 and 4 (B) as per statement no 2, 3 and 4

(C) as per statement no 1, 2, 3 and 4 .as per statement no 1, 2, 3

Under which section of the Code of Civil Procedure, 1908“Power of court to issue commissions”

is explained?

(A) 73 (B) 74

@ s (D) 76

(1) No suits shall be instituted against the Government, until the expiration of four months,
next after notice in writing has been delivered.

(2) in the case of a suit against the Central Government, notice in writing to be given to a
Secretary to that Government;

(3) In the case of a suit against any other State Government, notice in writing to be given to a
Secretary to that Government.

With reference to Notice under the Code of Civil Procedure, 1908, which statement is/are not

correct?

(A) 1, 2 and 3 all statements. B)3

(©)2 @
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247.

248.

249.

250.

251.

252.

253.

254.

255.

256.

“Exemption from arrest and personal appearance, in a suit instituted against a public officer”
This provision is made under which section of the Code of Civil Procedure, 1908?

(A) 82 (B) 81
@so (D) 79

Under which situation, Settlement of disputes outside the Court, is possible?
(1) arbitration;

(2) conciliation

(3) judicial settlement including settlement through Lok Adalat;

(4) Mediation.

.As per 1,2, 3 and 4 (B) As per 2,3 and 4

(C) As per 1,3 and 4 (D) As per 1, 2 and 4

Under which section of the Code of Civil Procedure, 1908, Compensation for obtaining arrest,
attachment or injunction on insufficient grounds” is explained

@5 (B) 94

©) 93 (D) 92

The Gujarat High Court Rules, come into force in which year?

@ 1993 (B) 1992

(©) 1991 (D) 1990

The Gujarat Court-fees Act, 2004 shall come into force on

(A) 6th January, 2004 (B) 6th April 2004
@ oth March, 2004 (D) 6th May, 2004

COMPUTATION OF FEES under The Gujarat Court-fees Act, 2004, discussed under which
chapter?

(A) CHAPTER .CHAPTER I

(C) CHAPTER 111 (D) CHAPTER IV

Any document of any of the kinds specified as chargeable is mentioned under:
(A) the First Schedule (B) the Second Schedule

.the First or Second Schedule (D) the third or Second Schedule

“Procedure in case of difference as to necessity or amount of fee” is explained under which
section of The Gujarat Court-fees Act, 2004?

(A)2 (B) 3

(C) 4 @

The amount of fees payable under The Gujarat Court-fees Act, 2004 in the different suits, is
mentioned under which section?

@ (B) 5
©4 D)3
In suits for declaration of easement or right to benefit arising out of immovable property, with

or without an injunction or other consequential relief, the amount of fee payable is mentioned,
under which section of The Gujarat Court-fees Act, 2004?

(A) sec 6(2) (B) sec 6(3)
(C) sec 6(4) @scc 665
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257.

258.

259.

260.

261.

262.

263.

In suits for declaration of a charge in favour of the plaintiff on movable or immovable property,
fee payable is :

(A) one-fourth of the ad valorem charge .one-half of the ad valorem charge
(C) one-third of the ad valorem charge (D) 1.5 (1'2)time of the ad valorem charge

The amount of fee payable under The Gujarat Court-fees Act, 2004, on a memorandum of
appeal against an award of a Claims Tribunal preferred under section 173 of the Motor Vehicles
Act, 1988, shall be computed as per section?

(A) 8 @
e D)5

(1) The State Government may appoint, in any local area, one or more officers to be called
inspecting officers.

(2) The inspecting officer may, examine the records of any case which is pending or has been
disposed of, with a view to finding out whether proper fees have been paid therein.

(3) If, the inspecting officer finds that the fee payable under this Act, has not been paid or has
been insufficiently paid, he shall report the fact to the presiding officer of the court.

(4) After recording the finding, the presiding officer shall issue a notice to the person referred to
show cause as to why he should not be ordered to pay the fee and the costs determined.

(A) 10 (B) 11

@2 (D) 13

From the following documents, which documents are exempted from payment of fees under
The Gujarat Court-fees Act, 200.

(1) Written statements called for by the Court after the first hearing of a suit.

(2) Application relating to supply for irrigation of water belonging to Government.
(3) Petition of appeal against any municipal tax.

(4) Complaint by a public servant.

(A)1,2 and 4 @:1.2,3ana4

(©)2,3and 4 (D) 1,3 and 4

Under CHAPTER 1V of The Gujarat Court-fees Act, 2004, the rules for PROCESS FEES are
framed by:

.Hon. High Court. (B) The legal department.
(C) the general administration department. (D) none of above.

“No document requiring a stamp under this Act shall be filed or acted upon in any proceeding
in any Court or office until the stamp has been cancelled.”

This provision is made under which section of The Gujarat Court-fees Act, 2004?
A) 39 (B) 40

(O) 41. .42

To reduce or remit, in the whole or in any part of the fees, mentioned in the First and the Second
Schedule annexed to this Act, the powers are given to:

(A) the central government. .the state government
(C) Hon. high court (D) the collector of the district.
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264.

265.

266.

267.

268.

269.

(1) In SCHEDULE 1, Ad valorem fees with Name of proceeding Description and Fees are
mentioned.

(2) In SCHEDULE 11, Fixed Fees with Nature of proceeding Description Fees are mentioned
(A) statement 1 is correct (B) statement 2 is correct
.Statement 1 and 2 are correct. (D) Statement 1 and 2 are not correct.

Under SCHEDULE II, Fixed Fees with Nature of proceeding Description Fees are mentioned.
Form the following statements which is/are correct?

(1) Description When presented to a Collector or other officer of revenue, for Assistance under
section 86 of the Bombay Land Revenue Code, 1879 or under any corresponding law for the
time being in force; Fees Ten rupees.

(2) Description When presented to the High Court—.for directions, orders or writs under article
226 of the Constitution of India for any purpose other than the enforcement of the

fundamental rights conferred by Part III thereof === Fees five hundred rupees
.statement 1 is correct (B) statement 2 is correct
(C) Statement 1 and 2 both are correct. (D) Statement 1 and 2 both are not correct

Which are important points of Ownership?
(1) The full and complete right of dominion over property
(2) At its most extreme and absolute, it means the power to enjoyand dispose of things absolutely.

(3) Ownership is often considered to be the ultimate residual right. From above statements,
which statement is /are correct.

(A) 1, 2, and 3 statements are not correct. (B) 2, and 3 statements are correct
(C) 1 and 3 statements are correct .1, 2, and 3 statements, all are correct.
The rights and freedoms, can be divided in to how many groups?

(A) civil rights (B) political rights

(C) social and economic rights .all of above

Civil & Political rights

(1) Primarily protect individuals from state power.

(2) Primarily protect individuals from unjustified intervention in their lives.

(3) They basically ensure that you can live safely within society

(4) They basically ensure that you can participate in public life

From the above which are correct statements?

.1, 2, 3and 4 statements, all are correct. (B) 1, 2, and 3 statements are correct.
(O) 1, 3 and 4 statements are correct. (D) 1, 2, and 4 statements, are correct.
From the following which are some of the most important civil and political rights?
(A) Life, Fair trial and property (B) Torture

(C) Liberty .All of above.
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271.

272.
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274.

With reference to “Doctrine of Precedent in India” which statements are correct?

(1) ‘Precedent means “A previous instance or case which is or may be taken as an example of
rule for subsequent cases”,

(2) Under the Government of India Act 1935, a Federal Court was established in India, and the
decisions of the Federal Court were made binding on all the subordinate Courts in India.

(3) Judgements of the particular High Court are binding on all subordinate to it.
(A) statement 1 is correct. (B) statement 2 is correct
(C) statement 3 is correct .statement 1, 2 and 3 are correct

The law declared by the Supreme Court shall be binding on all courts within the territory of
India.

This provision is made under which article of CONSTITUTION OF INDIA?

(A) 139 (B) 140

@141 (D) 142

With reference “Doctrine of Precedent in India “which is/are correct statement/s?

(1) According to Salmond, an authoritative Precedent is one which Judges must follow whether
they approve it or not. Authoritative Precedents are the legal sources of law.

(2) A persuasive Precedent is one which, the Judges are under no obligation to follow but which
they will take into consideration and to which they will attach great weight as it seems to
them to deserve

(A) statement 1 is correct. (B) Statement 2 is correct.
(C) Statement 1 and 2 both are not correct. .Statement 1 and 2 both are correct.
From the following statements which statements is /are correct?

(1) Sources of law is” agencies through which the rules of conduct acquire the character of law
by becoming definite, uniform and compulsory eventually fashioned, through the activity
of judges”

(2) Salmond has classified the Legal Sources of Law into four divisions.

(a) Legislation (b) Precedent (c) Custom (d) Agreement

(A) statement 1 is correct. (B) statement 2 is correct.
.statement 1 and 2 are correct. (D) statement 1 and 2 are not correct.
Punishment has the following features: Which is/are correct statement?

(1) It involves the deprivation of certain, recognized rights, or other measures considered
unpleasant. It is consequence of an offence,

(2) It is applied against the author of the offence and is applied by an organ of the system that
made the act an offence.

.statement 1 and 2 are correct. (B) statement 2 is correct.

(C) statement 1 and 2 are not correct. (D) statement 1 correct.
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2717.

278.

279.

280.

Under Definition of crime, which are important points,
(1) Crime is an act deemed by law to be harmful for the society.
(2) As a whole its victim may be an individual.

(3) Punishment can be used as a method of educating the incidence of criminal behavior and
preventing them from repeating the offence or by reforming them into law-abiding citizens.

(A) statement 1, 2, and 3 are not important. (B) statement 1, and 3 are important
(C) statement 2, and 3 are important .statement 1, 2, and 3 are important
For Punishment, which are correct statements?

(1) Punishment inflicted is a feeling of uncomfortable and unpleasant circumstances and is a
result of a wrongful act.

(2) There is no relationship between the punishment inflicted and the crime-committed.
(3) The punishment is a form by which a criminal is made answerable to the society.
(A) statement 1, 2 and 3 are correct. (B) Statement 2 and 3 are correct.
.Statement 1 and 3 are correct (D) Statement 1, 2 and 3 not are correct

How many types of punishments are promoted by Sir John Salmond?

(A) two (B) three

.four (D) five

Now how many types of punishment are mentioned under LP.C.?
.ﬁve (B) four

(C) three (D) two.

(1) Administrative law, is part of the branch of law commonly referred to as public law. It is the
composition of powers, duties, rights and liabilities of the various organs of the Government.

(2) Law regulates the relationship between the citizen and the state and involves the exercise of
state power.

(3) Law regulates the exercise of power conferred under the law upon governmental bodies.
From the above which are correct statements?

(A) 1 and 3 are correct statements. (B) 2 and 3 are correct statements

.1, 2 and 3 are correct statements (D) 1 and 2 are correct statements

(1) Laissez faire promoted the theories of individualism, Individual enterprise and self-help.
The philosophy envisages minimum Government control, maximum free enterprise and
contractual freedom.

(2) Because of Laissez faire, slums, unhealthy and dangerous conditions of work, child labour,
wide spread poverty and exploitation of masses, were created and on the other hand,
concentration of wealth in a few hands, took place.

Comment on the above mentioned statement.
(A) 1 and 2 statements are not correct. .1 and 2 statements are correct

(O) 1 statement is not correct (D) 2 statement is not correct
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282.

283.

284.

28S.

For the study of administrative law, Constitution of India is very important because:—

(1) It deals with the organization and structure not only of the central Government but also of
the states.

(2) in a federal constitution, Center-State relationship is a matter of crucial importance.

(3) provisions on Fundamental Rights, Directive Principles of State Policy, and fundamental
duties, safeguards to minorities, Scheduled tribes scheduled castes and backward classes
are mentioned..

(4) includes foreign policy and foreign trade concept.

(A) 1, 2, 3 and 4 statements are applicable. (B) 2, 3 and 4 statements are applicable
.1, 2 and 3 statements are applicable (D) 1, 3 and 4 statements are applicable
In India, the administrative discretion, may be reviewed by the court on the following grounds
(1) Malafide or Bad faith and Non-application of mind::

(2) working as per provision of law, rules and regulations

(3) Colourable Exercise of Power, Acting under Dictation.

(4) Unreasonableness

(A) 1, 2, 3 and 4 grounds. (B) 1, 2, and 4 grounds.

.1, 3 and 4 grounds. (D) 2, 3 and 4 grounds.

Which are basic pillars of Principles of Natural Justice?

(1) Nemo in propria causa judex, esse debet - No one should be made a judge in his own case, or
the rule against bias.

(2) Audi alteram partem - Hear the other party, or the rule of fair hearing, or the rule that no
one should be condemned unheard.

A) only 1 (B) only 2
y y
.both 1 and 2 (D) None of above

Form the following well-known judgments, which are important for understanding “Principles
of Natural Justice”?

(1) Cantonment Board, Dinapore v. Taramani

(2) Nandini Satpathy v. P.L. Dani

(3) Parry &Co V. P.C.Pal

(4) Vishaka & Ors vs State Of Rajasthan & Ors

(A)1,2,3 and 4 (B) 2,3 and 4
@:.2 2043 (D) 1,3 and 4

(1) On the recommendation of the Administrative Reforms Commission (ARC), bodies like
Lokpal and Lokayukta are set up under Lokpal and Lokayukta Act, 2013.

(2) Lokayukta is an ombudsman appointed to work on citizens’ complaints and grievances
regarding corruption at the central level.

(3) Lokpal is set up to take action against the corruption complaints made by the residents of
the state.

From the above, which statements is correct?
.statement 1. (B) statement 2.
(C) statement 1, 2 (D) statement 1, 2 and 3

AFK -A ] 40 [Contd.


acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight


286.

287.

288.

289.

290.

(1) With reference to the Corruption Perceptions Index of Transparency International, India
rank- 81/180.

(2) THE LOKPAL AND LOKAYUKTAS ACT, 2013, extends to the whole of India.

(3) It come into force on 1 March 2014.

For, above mentioned statements, please comment.

(A) statement 1, 2 and 3 are correct .statement 1 and 2 are correct.

(C) statement 1 and 3 are correct. (D) statement 2 and 3 are correct.

(1) The Chairperson and Members the Lokpal shall be appointed by the vice President.

(2) a Selection Committee consist of —

(a) the Prime Minister—Chairperson;

(b) the Speaker of the House of the People—Member;

(c) the Leader of Opposition in the House of the People—Member

(d) the Chief Justice of India or a Judge of the Supreme Court nominated by him—Member;
(e) one eminent jurist,

(A) from above, statement 1 is correct. (B) from above, statement 1and 2 are correct
.from above, statement 2 is correct (D) from above, statement 1 and 2 are not correct

(1) Appeal : the judicial examination, review, reversing or modifying the decision of an inferior
court on ground of error, by a higher Court.

(2) Revision means the action of revising, especially critical or careful examination or perusal,
with a view to correcting or improving the order. Revision is like re-working and re-writing.

.from above, statement 1 and 2 are correct.

(B) from above, statement 1and 2 are not correct

(C) from above, statement 2 is correct

(D) from above, statement 1 is correct

Under The Indian Penal Code 1860”Document” is defined under which section?
(A) 26 (B) 27

(C) 28 @2

(1) The Universal Declaration of Human Rights (UDHR) is a milestone document in the history
of human rights

(2) The Declaration was proclaimed by the United Nations General Assembly in Paris on 10
December 1958 as a common standard of achievements for all peoples and all nations.

(3) It sets out, for the first time, fundamental human rights to be universally protected and it
has been translated into over 500 languages.

From the above mentioned statements, which statements are correct?
(A) 1 and 2 are correct .1 and 3 are correct
(C) 2 and 3 are correct (D) 1, 2, and 3 all are correct.
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(1) The United Nations have in the Charter reaffirmed their faith in fundamental human rights,
the dignity and worth of the human person and the equal rights of men and women.

(2) The United Nations have determined to promote social progress and better standards of life
in larger freedom,

(A) statement - 1 is correct (B) statement- 2 is correct
.statement 1 and 2 both are correct (D) statement 1 and 2 both are not correct.

Under universal declaration of Human rights, how many articles are approved by United
Nations?

@:o (B) 31
(C) 32 (D) 33

(1) The International Court of Justice (ICJ) was established in June 1945 by the Charter of the
United Nations and began work in April 1946.

(2) The seat of the Court is at the Peace Palace, in New York (United States of America).

(3) The Court’s role is to settle, in accordance with international law, legal disputes submitted
to it by States and to give advisory opinions on legal questions referred to it by authorized
United Nations organs and specialized agencies.

(A) statements 1 and 2 are correct. .statements 1 and 3 are correct

(C) statements 2 and 3 are correct (D) statements 1, 2 and 3 all, are correct
(1) The International Court of Justice (ICJ) is composed of 15 judges.

(2) The official languages of the Court are English and French.

(3) Only Member States of United Nations, are eligible to appear before the Court.

(A) Statements 2 and 3 are correct. .Statements 1, 2 and 3 all, are correct.
(C) Statements 1 and 3 are correct. (D) Statements 1 and 2 are correct.

With reference to decisions of the International Court of Justice (ICJ), which statement/s is/are
correct?

(1) Judgments delivered by the Court in disputes between States, are binding upon the parties
concerned.

(2) Judgments are final and without appeal. If either of the parties challenges their scope or
meaning, it has the option to request an interpretation.

.Statements 1 and 2 are correct (B) Statements 1 and 2 are not correct
(C) Statements 1 is correct (D) Statements 2 is correct

For the settlement of an international dispute, which are amicable means:

(1) Negotiation and good-offices: —

(2) Mediation and Inquiry:-

(3) Arbitration and Judicial Settlement: -

(4) Security Council and General Assembly:

(A)1,2 and 4 (B)1,3 and 4

@:.2,3and4 (D) 2,3 and 4
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Which are main organs of United Nations organisation?

(1) The General Assembly

(2) Security Council

(3) Economic and Social Council

(4) Trusteeship Council

(5) International Court of Justice

(6) Secretariat

(A)3,4,5and 6 (B) 1,2 and 5

(C)1,2,3 and 4 @:.2,3,4,5and 6 an

From the following, Which are main functions of United Nations Organisation?
(1) maintain internal peace and security

(2) protect Human Rights

(3) deliver Humanitarian aid

(4) promote sustainable Development

(5) Uphold internal Law.

(6) Protect environment and natural resources.

(A)1,2,3,4and 6 B)1,2,3,4,5and 6
@:.2,3,4and5 (D) 1,2,3,5and 6

(1) Sovereignty as a term has its origin in the French word ‘Supera’ meaning supreme.

(2) sovereignty is commanding power of the state; it is the will of the nation organized in the
state; it is a right to give unconditional orders to all individuals in the territory of the state
with a final and absolute political authority.

From the above statements, which statement is/are correct?
(A) statement 1 is correct .statement 2 is correct
(C) statements 1 and 2 are correct (D) statements 1 and 2 are not correct

The President shall, constitute a Finance Commission which shall consist of a Chairman and
four other members to be appointed by the President.

This provision is mentioned under which article of Indian Constitution?
@230 (B) 281
(C) 282 (D) 283
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